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PART A: Grammar and Vocabulary
Directions: Questions 46-50 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

46- Which of the following sentences is grammatically correct?
1) The students waited for the Dean this morning patiently in the secretary’s office.
2) The students waited for the Dean patiently in the secretary’s office this morning.
3) The students waited for the Dean in the secretary’s office this morning patiently.
4) The students waited for the Dean patiently this morning in the secretary’s office.
47- He pointed out that traffic conditions have worsened through the years because the city’s policies are

not ......eeeeee .
1) increasing 2) effective 3) relative 4) physical
48- In addition to relieving headaches and ............ heart attacks, Aspirin seems to keep cancer cells from
spreading.

1) defending 2) increasing 3) measuring 4) preventing
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49- When hirihg new employees, we will be looking at different criteria, but most importantly ............ and

experience.
1) education 2) intonation 3) creation 4) condition
50- I have a bad ............ of not closing the blinds properly or forgetting that the curtains are open.
1) pressure 2) function 3) habit 4) lifestyle

PART B: Cloze Test

Directions: Questions 51-55 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

A novel is a long invented story, written in prose. This form of writing only began in the early 17"
century, and has had a dramatic rise in popularity ...51... . Some offer insights into everyday life, others
tell of fantastic adventures that keep you ...52... the pages. American author Louisa May Alcott wrote
Little Women (1868-69), which tells the story of four sisters and ...53... lives. This remains one of the best-
loved children’s books ...54... written. Many successful modern authors are now rewarded with high
incomes from sales of their books, as well as from movies ...55... their novels.

51- 1) however there is novel suiting all tastes 2) because there are novel suiting all taste
3) because there are novels to suit all tastes 4) however there are novels to suit all taste

52- 1) holding 2) taking 3) making 4) turning

53- 1) them 2) they 3) their 4) themselves

54- 1) yet 2) never 3) ever 4) since

55- 1) kept on 2) based on 3) consisted of 4) made up

PART C: Reading Comprehension

Directions: In this part of the test, you will read a passage. The passage is followed by five questions.
Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your answer sheet.

What makes a person a scientist? Does he have ways or tools of learning that are different from those of
others? The answer is “no”. It is not the tools a scientist uses but how he uses these tools that make him a
scientist. You will probably agree that knowing how to use power is important to a carpenter. You will
probably agree, too, that knowing how to investigate, how to discover information, is important to
everyone. The scientist, however, goes one step further — he must be sure that he has a reasonable answer to
his questions and that his answer can be confirmed by other people. He also works to fit the answer he gets
to many questions into a large set of ideas about how the world works.

The scientist’s knowledge must be exact. There is no room for half right or right just half the time. He
must be as nearly right as the conditions permit. What works under one set of conditions at one time must
work under the same conditions at other times. If the conditions are different, any changes the scientist
observes in a demonstration must be explained by the changes in the conditions. This is one reason that
investigations are important in science. Albert Einstein, who developed the theory of relativity, arrived at
this theory through mathematics. The accuracy of this mathematics was later tested through investigations,
and Einstein’s ideas were shown to be correct. A scientist uses many tools for measurements. Then the
measurements are used to make mathematical calculations that may test his investigations.

56- What makes a scientist according to the passage?
1) the tools he uses
2) the way he uses his tools
3) his way of learning
4) the various tools he uses
57- The author says the sentence “The scientist, however, goes one step further... ” in the first paragraph
to show ............ .
1) the importance of information
2) the importance of thinking
3) the difference between scientists and ordinary people
4) the difference between carpenters and people with other jobs
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A sound scientific theory should be one that ............ .
1) works not only under one set of conditions at one time, but also under the same conditions at other times
2) does not allow for any changes even under different conditions

3) can be used for many purposes even if the conditions don’t really change
4) leaves no room for improvement even if the tools used have improved in many different ways
The author quotes the case of Albert Einstein to illustrate that ............ .
1) measurements are keys to success in science

2) accuracy of mathematics is questionable

3) the investigations are important in science

4) the mathematical calculations may test his investigations

What is the main idea of the passage?

1) The theory of relativity is very important in science.

2) Exactness is the core of science.

3) Scientists are different from ordinary people.

4) Exactness and ways of using tools are the keys to the making of a scientist.
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